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Selected Answer: « v,,; =35y Re =90

Correct Answer: > V{ =543y .,Q? =60

Feedback: Source: Electrical En

gineering Principles and Applications 2nd Edition:
Chapter 2

Question 5 Multiple Choice

At t=0, the switch in the following circuit moves instantaneously from position a to position
domain expression for the voltage v, for t > 07

e wm
— 1T, ‘
N Ry | % gwo 0 0.32 H;
iy 6.4 A{\‘ ,:?' " ’o b’ [
j SO : 4

Selected Answer:

w Vo =-10e"y
Correct Answer: 2 Vo =g g™ty

Feedback: Source: Electrical Engineering Principles and Applications 2nd Edition: Chapte
Question 6 Multiple Choice
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Assume that the operational amplifier in the circuit shown is ideal. Specify




